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SSAE & HHsX2el(8E8H) 30,163 30,283 A120
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01 AtR 22/t 2,400 2,520 A 120
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oA XYL (2HH) 309,762 310,000 N238
Ue XNIHL(=28H) 309,762 310,000 N238
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401 Al&HIZL=RCHYI 309,762 310,000 A238
01 Al&HI 309,762 310,000 N 238
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2 & 15,873,000& 15,873 17,000 A1,127
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Z & 9,207,000 9,207 10,000 AT93
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Z& 19,062,000 19,062 20,000 A 938
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O%E 222 142 &7 (200m)
2 & 13,006,000& 13,006 15,000 A 1,994
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OBE 2 H&FHI(100m)
Z2& 12,800,000& 12,800 14,000 A 1,200
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23 16,590,000 16,590 18,000 A 1,410
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202 26,140 25,200 940
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405 1,000 0 1,000
01 1,000 0 1,000
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